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03 Al& £ TH bl 6,500 2,500 4,000

O272 XNALHAY SO 4,000 0 4,000

SYUZHIAAY 94,551 91,476 3,075
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01 a2 S 3,075 0 3,075

OT2EN AzHI8 3,075 0 3,075

ARD FOIZRAAY 28,000 0 28,000

= 28,000 0 28,000

401 AlEHI L2 0HHI 28,000 0 28,000

= 28,000 0 28,000

01 Al 28,000 0 28,000

ORY 52 L HEZHXBA 15,000 0 15,000

= 15,000 0 15,000
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OIS MNUGTR HTF A 1,574,000 471,000 1,103,000

401 AlEHI R 2 OhYI 1,574,000 471,000 1,103,000

01 Al&tl 1,568,000 470,000 1,098,000

OOl MNUER HTHDA 600,000 100,000 500,000

OTEOIS HYZ HLIAY 68,000 0 68,000

ORUAHOIS FYTR HTHZA 600,000 100,000 500,000

Oox0lg NYEE Fl 30,000 0 30,000

03 Al& £ T bl 6,000 1,000 5,000

ODISTYTZ HEFZA 2| 5,000 0 5,000

—-XNHEY +48 N2 2,000 0 2,000

—2HBI $28 NS 3,000 0 3,000

xge 2 422,386 252,386 170,000

2C U SHEZE RABL 419,886 249,886 170,000

401 Al HI YL 2 THYI 321,000 151,000 170,000

01 Al&tl 320,000 150,000 170,000

OZCS2 #XE HEHA &3 170,000 0 170,000
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SENUE DBt = 12,017,783 11,588,163 429,620
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X 7,359,000 7,359,000 0
< 954,500 955,300 A 800
= 3,454,283 3,023,863 430,420
=0 BHEH 3,911,500 3,611,500 300,000
X 2,300,000 2,300,000 0
< 361,500 361,500 0
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401 AIEHI L 2CHEI 601,000 301,000 300,000
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O=gYIIEAIE &S ALY 600,000 300,000 300,000
s& dEEd Fd 8,045,708 7,943,308 102,400
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X 5,059,000 5,059,000 0
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= 2,143,708 2,040,508 103,200
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402 2I2tXt=01 & 210,000 150,000 60,000
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O&+=0ISX& (b &=0t2)
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SE0SESSHEAME =& 22,000 0 22,000
403 AXHHS =0l A 22,000 0 22,000
02 I 2S0ICHEt A =& OHE At H 22,000 0 22,000
OLEts A ENL ALY OlHI A= =8 22,000 0 22,000
SESHNEHS (LX) (HAH) 766,000 765,600 400
Xl 536,000 536,000 0
= 115,000 114,800 200
s 115,000 114,800 200
403 A X EHHS =0l A 766,000 765,600 400
Xl 536,000 536,000 0
= 115,000 114,800 200
i 115,000 114,800 200
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OHLHsEZTAX JIZ=MEI|BHE = (3E 1) 692,000 691,400 600
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403 X SHH S X201 & 639,000 639,000 0
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ORASSEZAX NAZBHL(1ER) 30,000 30,000 0
X 21,000 21,000 0
< 4,500 4,500 0
= 4,500 4,500 0
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
SR A 139,975 351,916 A211,941
< 47,966 134,198 A 86,232
= 92,009 217,718 A125,709
101 1Al 139,975 351,916 A211,941
< 47,966 134,198 N 86,232
= 92,009 217,718 A125,709
03 RIHLZ 22> 139,975 351,916 A211,941
Oz zeld = 120,875 308,982 A 188,107
—Jl2s 70,000 144,566 AT4,566
< 47,966 134,198 A 86,232
= 22,034 10,368 11,666
—&03 0 48,189 N48,189
— WS 2 XY 1,232 3,696 A2,464
— S ZE S0t 9,743 14,457 N4 T4
-2 5,040 11,760 26,720
— =g 0 11,528 A 11,528
— JAZ Al 2,240 6,720 N4,480
— g4 1,120 3,360 N2,240
— A2l 12,500 23,888 A 11,388
—5d2f=d 16,800 38,218 A21,418
— &g 200 600 A 400
OghtEg s 17,000 40,834 A 23,834




